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(1) kox&EEZH BWICEZEL

HEHRE DB P D
B LEEA.

(Lynda Gratton & Andrew J. Scott, The 100-Year Life: Living and Working in an Age of Longevity, 2016, modified)
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the rate of progress has started to decline over the past two centuries

7

- the pace of progress is faster than it has been for the past two centuries
7 the pace of progress will probably slow down in the next century to come
I

the rate of progress continues at the same rate as in the past two centuries
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(2] RoOXEEZA, FNCEZLEL

BEMRFEDOB P D
B LEEA.

(Kevin McCain, Understanding How Science Explains the World, 2022, modified)
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[ 3 ] Read the following passage and answer the questions (Questions 1-4).

BEMRFEDOB P D
B LEEA.

(New York Times, 2024, modified)
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Notes:

!diagnosis: a doctor’s opinion of what is wrong with someone who is sick

’maintain order: to make sure that people behave and do not fight with each other

3shift:

‘ward:

a period of work in a place such as a factory or a hospital

an area in a hospital where patients who require the same kind of treatment stay

SKolkata: a major city in India (previously known as Calcutta)

Sactivist: someone who tries to cause social or political change

Tpractice: a business in which several people (such as doctors or lawyers) work together

8Supreme Court: the most important law court in a country

task force: a group of people who are brought together to do a particular job

Wcompassion: a strong feeling of sympathy for someone and a wish to help them

"cardiologist: a doctor who specializes in treating diseases of the heart

2outpatient: a person who goes to a hospital for treatment, but who does not stay any nights there

BCPR

(cardiopulmonary resuscitation): a method used to keep someone alive in a medical emergency, in which you

blow into the person’s mouth then press on their chest and then repeat the process

Ysurgeon: a doctor who is specially trained to perform medical operations

Psuperhuman: having or needing powers or abilities that are greater than those of most people

Question 1:

Question 2:

Question 3:

Question 4:

Read the underlined section (A) and write the English translation.

Choose the most appropriate answer to the following question.

According to the passage, what is one of the main challenges doctors face in Indian government hospitals?
A) Lack of medical supplies

B) Lack of proper medical training

C) Overcrowded working conditions

D) Poor communication between staff

Choose the most appropriate answer to the following question.

According to the passage, what action resulted from the experience of the junior doctor in Kolkata?
A) Doctors in private practice offered support.

B) The government increased the number of medical colleges.

C) The hospital was shut down.

D) The Indian Supreme Court created a task force to improve hospital safety.
Imagine you are a doctor in a rural part of Japan. What are some of the challenges you think you will face?

How do you think you will overcome these challenges? Write at least 100 words in English and provide specific

examples and suggested solutions for the challenges you predict.
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